Translate Erglsh Sentences ity Prediate logic . Oct- 11, 2017
 Towan: set of animals

Haney (X) means x Jikes hemey .

Bear ) mans X s a beal~.
o /—W ammz:z/s like. honey . (W Honey (X))

_- @ gy animaf dislkes honey . (71 (3 (=1 Honey()))

_Some_

{2 At last ore. animal kkes foney . (X Honey(x)).
O Nt every animal dis/ikes  homey . GO (1 Homey O

(3 Ci\lat every ammal [kes honey. 1 (W% Honey (X))
| Ttk ot the case that ewey animal Jikes horeq .
1@ Some animal dishkes h0ﬂ€g, (Ax (= Homey ())).

Th@f\e a’oes‘nﬁf XISt an ammal Wwho lites  hoi

| No aimal  Ikes  honey . G (IX Honeyx)))
i’ Euerg anmal  dishkes  honey. (VX (7 Horey(x))).

Fach pair sentences and formulas s logieally ﬁgw‘va@m
| Howeuu‘ when clog transiations , always ge the  Mote
drect and literal ~ tronslation > auord lesing  marks .

Sample. @



Translate. Trglish. Sentences. imo. Pedicate Loglc .
- _Domain: serof awmas
. Hotey (x) means X Jikes Joney

5 No animal dishkes honey.  G(FK (= Homey(x)).

 SThae dus not et an anima) who dishles honey.

B not the axe Hat evey animal disies horey. .

% Some animal .db//‘éés..l_/ﬁoﬂég_. C(Fx (7 Hoﬁeg(«))).

8 Evew awimal dislibes honey. (¥ (7 Homey(x)),

ggmp/é

_6C>Nof every animal disikes heney. (207K (= Homey (x3))



Translate E/lcj ish Sentences o Pedicate Zz:g/&. Oct /2.

Domain: the set- of animals
Bear(X): X & a bear. Honey(x) : % likes hmeg,

“Translate Vevey bear- Jikes honey” hio Dredieate logic.

- @ (v Bear(x) ) Honey(x)))
Bvery anima| 25 a bear~ and likes honey. .

) (W& (Beart®) V' Honey )

Every animal 75 a beal~ or l%es honey or both.
, @ (W (Bear(%) - Homey(x)))

- I an amimal s a beal—, then A ltes honey |
I an amimal % NoT a beats, Cewl, no pwblem!
) (YK (Horey 0 = Beartx)))

o Lvery homey—liker % o beal~

~ Domain 1> { Bea- X likes horey , Bear bes Honey, Rabbit- K
ﬁ (@) % Fake becayse #abbit K is NOT a beal~.  dBlikes horgy.
. 5 Tue. -
(b)) s Fabe, Rabbi &k %3 NOT a_beat— and dishlkes W
_Dmain 2 . { Bear X lkes honey, Rabbit- K Des horey. 3.
(O & Tue.

) 5 ke, K Dkes honey but & not a bear.

_ Domain D, and pecdicate PIX).
"Ml < thirgs in D for which P s e > have Hhe property &7

(Y (> qe)
sample. Al <things i D o7 wlich P 33 ine> ©




Translate. trglish Sertences o Pedivite logiz Oet 2.

 Dmain: He s of awmals.
_ Bar(x). K s a kel Hmeyt: x hkes horey .

 Trarslate. “some bea~ Mees honey.” inio predieate legie.
— (mpledtly, 7 says "here exists a beak who .. 7
—Sume animal 75 a beal and ako kes honey .

T 5 oan animal vhat s a bear and Jkes Jorey .
______ @ (AX (Beart) N Homey x0)).
T Thee s one bear who Jikes honey.

b (FX (Bear ) V' Honey(0)).

 There B an awimal who 7 eittet o bear or Jites
 horey or hoth

(© Gx (Bearx) = Honey>)).

o There ® an amimal who % o beat and Ies honey
o or- Who s NOT o beal .

(D (Fx (Homeylx) — Baa-(%))) -

e & an animal Lho Jkes honeg ad 5 a bear
_0r Who dbesn't ke honey.

_Jomain 1 { Rabbi-b B

() s Ralse. (0 s Tme.

Domain 2 - {Tiger 7 doesnt Jke honeyy

(@ 5 Tabe @ 5 True.

_Domain 3 : 1 BearX doesnt like horey}

() J5 False (D I True.

_Domaim D, predieate P(x).

 Sme <thig in D Br which P true> has the prperty &
B (X PO N QD)

sample. . Some. <Hhing in D B wheh Pls ime™>




Trarslate. Trglish Sentences v Redioate. Logic Oct 12.

" Domain: e set of paple
LY pasm x ikes persom Y . (ditected  relationship).
L0 Y) s not necessarsly e same as L4 4D .

 Translate. the Bllewhg Bmulas to Eaglish.

Aice.

@ (yx (Vy Lx v)y)) /8N N\

o Brenyone likes eveyone. G Pob &= Be D
@ (Ix @3y L, D) AM\;
 Someone )ikes someome. .  Pob Eve .
C® (VA (FY L&, 940 e ®

 bverybedy likes somebody. "
. (beyoms has @ lesst ong azxgaig ea(qf.)gob o
@ (Y (¥ L, ‘d)g). Pice.
o Somebody 5 liked body .
~ (One peson digs an W%bgedg% fvﬂelym.) ol =% Ey¢0)
® Give an exomple Br which @ & true and @ 5 toulse.
& Give an example tr which & s fake and @ 5 e
(W B an answer T (2.

b s possile, @ > @ I X ks iked by everyone, Hhen
S everyme Jikes X.
I the multiple quantifiers are e same, Changikg their ordet
_ Ooes NOT change e formuda’s  mmeaning .

T the utivle Quantitiers e different, changty their order
— WILL change the tormula’s meaning .

e metters when guanfers e clfvent.
Sample_ ©



Det (2.

(V/x (3y L, 4)))
Everybody  loves  somebocdy
(Fx (V8 Lo )
Stmebody - Joves - everybody .
® (vy (Fx  Lewwy)
Benbedy s lved by some bocly
@38 (vx Lex )
Somebedy s - lpved by evelybody

(J
e

Al
& / x = Ohe persin has an oudgoly ede.
Bob

= 1 eveiyone .

Alce 2
’Q\\J - -Gt hes at least one-
Bajé = Inwming edge..
®->@

I X loves everyone, then evenyome & Jovedt by X



